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Children should be evaluated -

(A) through Board examination

(B) through continuous and
comprehensive evaluation

(C) through Home examination

(D) through written and oral

examination

A child frequently asked the questions in

the class, appropriate inference drawn from
itis-

(A) He/Sheisnaughty

(B) He/Sheistoo curious

(C) He/Sheisabnormal

(D) He/Sheis genius

Right to free and compulsory education to
children act 2009 is applicable to the age
group of between -
(A) 6-14 years
B) 7-13 years
(C) 5-11 years
D) 6-12 years

A child frequently quarrels with his class-

mates, what will youdo ?

(A) You will punish the child

(B) You will expel the child from school

(C) You will try to know the reason and
counsel him

(D) You will complain to his parent

[ Turn Over



Rt & 19 g1 ARy —

(A) g fAuyg @7

(B) T FAMASIT BT

(C) fRwrm wfear &1

(D) 3reAeH vy vd qre—a-ifasm
BT

Rer#iflsm A sfea = &4

D AT FAT T & —

(A) T JUT FE BT @I Goid
B & |

B) fIemer # a9 W Ul 9= Bl
Plz J4 T & BT 2 |

(C) Rr™ ufhar § s=f & o
BIAT 3 | :

D) = JIE T8 AT &, SN
I USRI Wl 2 |

RS BT VG © —

(A) 9= BT FHASAET

B) T B BAAT BT BRI gAT
BHRAT

(C) = B FHRINH A eIl US

DRAT
@) SR wt

RIS UG Tadl @) BUET 2005 (NCF-
2005) & IrERE Rigrar 3, e
| DI AT W17 A T8 & —
(A) TS qI RETSN BT IS
—
(B) A DI HAEE@ UG T BRAT
(C) TKIdI | FAX S YT BT
(D) ¥H P ISP ShaT I ST

[4]

The teacher should have knowledge of -
(A) teaching subject

(B) child psychology

(C) education code

(D) teaching subject and child psychology

According to education psychology, which

among the following is correct statement -

(A) Children construct their own
knowledge.

(B) Children has no previous knowledge
prior to coming school.

(C) Children feel pain in learing process.

(D) Children learn exactly, what is taught
to them.

The objectives of counseling is -

(A) = tounderstand child

(B) tofind the reason of shortcomings in
child

(C) tohelp the child in accommodation

(D) allabove

Which among the follbwing part is not
included in the basic principles of NCF-
20052

(A) Holding good external examination
(B) No importance to rote memorization
(C) Acquiring knowledge beyond text

books :
(D) Connecting knowledge to real life
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10.

1.

12.

13.

Dyslexia is associated to -
(A) mental disability
(B) writing disability
(C) reading disability
(D) physical disability

Which of the following statement is true ?
(A)
B)
©)

Boys are more intelligent.

Girls are more intelligent.
Intelligence is not associated to
gender.

(D) Generally boys are more intelligent
than girls.

A teacher couldn’t answer a question
immediately, asked by Shivani, what should
the teacher’s reaction ?

(A)
(B)

Teacher should make Shivani quite
Teacher should distract the
attention of Shivani

©)
(D)

Teacher should say “I don’t know”
Teacher should provide correct
answer after thoughtful deliberation

Curiosity of child should be satisfied -
(A) When the teacher has spare time
(B) When the student has spare time
(©)
D)

After some time
Instantaneously when the student
made inquiry

Reward and punishment is -
(A)
(B)
©
(D)

Positive motive
Natural motive
Artificial motive
Acquired motive
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14.

15.

16.

78

On the basis of child psychology, which
statement is the appropriate ?

(A) Allchildren are homogeneous.

(B) Every childis unique.

©)
D)

Some children are unique.
Some children are homogeneous.

You want to teach English to a child of
illiterate parents, what you will do ?

(A) Youwill talk to child in English

(B) You will compel child to speak in
English

You will prevent child from speaking
in mother tongue

You will try to teach English with the
help of her mother tongue

©

(D)

Who developed the Dalton method of
teaching ?

(A) Frobel

(B) W.H.Kilpatrick

(C) Miss. Helen Parkhurst

(D) Dalton

In modern teaching learning process, the
role of the teacher is -

(A)
(B)

agood facilitator of learning
teaching math, science and language
to children

giving value based education to
children

teaching every thing to children

©)

(D)
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18.

19.

20.

2L

22.

(©)

A good teacher promotes among the
students -

(A)
(B)

feeling of competition
feeling of co-operation
feeling of rivalry

(D) feeling of neutrality

Relation between teacher and taught
should be of - :

(A) affection

(B) trust

(C) respect

(D) allabove

The best way to inculcate values in
childrenis -

(A)
(B)
©)
(D)

teaching them religious books
teacher should act as a role model
evaluate them for value education
preaching them in moring assembly

From the point of view of a teacher which
statement is the most appropriate -

(A)
B)
©)
(D)

Every child can learn.

Some children can learn.

Most of the children can learn.
A very few children can learn.

Madhu is weak in mathematics. From the
point of view of a good teacher, what may
be the reason of her weakness in
mathematics ?

(A) Generally girls are weak in
mathematics

Her parents are illiterate

She is not interested in study
Mathematics teaching methodology
is incorrect

(B)
©
(D)
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26.

Which among the following is the most
appropriate statement ? :

A good teacher -

(A) use lecture method for teaching

(B) always teaches through
demonstration

(C) always motivates the student for
learning

(D) always keeps the students in
discipline

How does a child learn ?
(A) Reading books

(B) Through discussion
(C) Asking questions
(D) Many ways

In your opinion which among the follow-
ing statements is the most appropriate
about mistakes committed by student in

learning process ?

(A) Student should never commit
mistakes.

'(B) Mistakes are part of learning
process.

(C) Mistakes are caused by
carelessness of student.

(D) Some time student can commit
mistakes.

The child has IQ ranges between 90 to
110, he/she is -

(A) average

(B) very superior

(C) superior

(D) genius
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29.

30.

In Continuous and Comprehensive

Evaluation, the term Comprehensive

Evaluation is refer to -

(A) Evaluation ofall the subjects

B) Evaluation of co-scholastic area

(C) Evaluation of scholastic and co
scholastic area

(D) Evaluationof scholastic area

What is the attribute of mentally healthy

teacher ?

(A) He/She is emotionally balanced

(B) He/She has profound knowledge of
his/her subject

(C) He/Sheistoo emotional

(D) He/Sheisstrict disciplinarian

The most important objective of education
is -

(A) toearnlivelihood

(B) holistic development of child

(C) to learn reading and writing

(D) intellectual development

According to NCF-2005, the main aim of

mathematics teaching is -

(A) giving knowledge of arithmetic to
children

(B) generating interest towards
mathematics among children

(C) to develop critical thinking and
problem solving ability in children

(D) emotional development of children
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Language I - English

In questions 31 - 32 select the word which means the same as the underlined word in the given
sentences.

31.  Hetakes great pleasure in his work.

(A)  Anger (B)  Swifiness

(C)  Enjoyment (D)  Victory
32.  Itwasaremarkable achievement for such a young player.

(A)  Success (B)  Happiness

(C)  Knowledge (D)  Inspiration

In questions 33 - 34 select the opposites of the underlined words in the given sentences.

33.  They often go to the bazaar.

(A) Never ; (B) Frequently

(C)  Always (D)  Seldom
34.  Iwasaware of his intentions.

(A)  ignorant (B) tired

(C)  informed (D) fond

In questions 35 - 38 select and mark the correct word for the blanks.

3 e we have pleasure of your company ?
(A) may B) can
(C) wil (D)  should
36. Youarepaying-...iee........ attention to your studies than you used to do.
(A)  enough B) no
(C)  less (D)  some
37.  Don'tdisturbhim.He................... his homework.
(A)  shalldo (B) did
(C) does - (D)  isdoing

€ [14]



38 Johnisabsent . t. oo he isill.
(A) only (B)  because
(C) however (D) after

In questions 39 - 42 select the word with the correct spelling for filling in the blanks in the given
sentences.

39. Hisopiniondoesnot............... my judgement.
(A) effect (B) affect
(C) effact (D) affact
40.  Cotton clothing allows your skin to ................
(A) breathe (B) breath
(C) breeth (D)  breathing
41. Asentencecanbe.........c..... up into meaningful segments.
(A)  divided (B)  devided
(C) devide (D) divide
42w NG SR s are used to keep off the pests.
(A)  leaf (B) leave
(C) _ . leaves (D) leafs

In questions 43 - 46 identify the appropriate alternative from the given ones for filling in the
given sentences :

43" The. i chapters are lacking in interest.
(A) last (B) latest
(C) later (D) latter
44,  The crow dropped the bread ................ the fox immediately snapped up.
(A) whom (B) who
(C)  which (D)  what
I e health there is no happiness.
(A) Due to (B) Unless
(C) Because of (D)  Without
46. Willyoupleaselendme.................. money ?
(A) any (B) some
(C) afew (D) no
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Each of the following sentences in questions 47 - 50 is broken into four parts marked as A, B, C
& D. One of the parts has an error in it. Identify it and mark on the answer sheet.

47, A man once lost his way / in the desert / and was in danger of dying / of hungry and thirsty.
A B C D

48. Little minds / are tamed by unfortune / but great minds/ rise above it.
A B ¢ D

49. I wish /I know / his name / and address.
A B © D

50. I shall / wait here / unless / the last bus arrives.
A B & D

Read the following passage and answer the questions ( 51 - 55) that follow -

Once upon a time there lived a Giant in an ancient castle surrounded by a lovely garden. While the
Giant was away, children returning from their school used to play in the garden every evening. There were
flowers on the trees during the spring and fruits during the autumn. The children liked this garden very much.
One day the Giant returned and drove the children away. He then built a huge wall arround the garden.

Days passed, spring came and there were flowers smiling and birds singing everywhere outside
the garden. But neither flowers nor birds emerged in the selfish Giant's garden.Snow and frost settled
down permanently in the garden. One fine morning, the Giant noticed that the little children had stolen into
the garden through a hole in the wall. They were sitting on the branches of the trees and every tree was in
full bloom. Only in the farthest corner it was still winter and the tree was covered with snow. A little boy
was crying bitterly under the tree because he was too small to climb it. The Giant stepped out into the
garden. All the children ran away at the sight of him. The little boy did not see the Giant because his eyes
were full of tears. The Giant walked up from behind the weeping child and lifted him to a branch of the tree.
At once the tree blossomed and the birds started singing. The Giant realized his mistake. He repented
sincerely and pulled down the wall to let the children play freelly in his garden.

51. Which one of the following statements is not correct in the context of the story ?
(A)  Thelittle boy started crying when he saw the Giant.
(B)  Intheabsence of the children snow and frost settled in the garden.
(C)  Thetree in the farthest corner blossomed when the Giant put the little boy on one ofits
branches.
(D)  The Giant realized his mistake and repented sincerely.
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52.  The tree at the farthest corner blossomed when :
(A)  theGiant pulled down the wall surrounding the garden
(B) the Giantrealized his mistake
(C) thechildrenranaway from the garden
(D)  the Giantlifted the child to a branch of the tree

53.  There were no flowers nor birds in the Giant's garden during spring because :
(A) thechildren had destroyed all the plants in the garden
(B) the Giant had drivenaway the children from the garden
(C)  snowand frost settled down permanently in the garden
(D) the giant builta huge wall arround the garden

54.  The child was crying because :
(A) there wereno flowersin the garden
(B)  hecould not run away with other children
(C)  hecould notclimb the tree
(D)  hewasafraid of the Giant

55.  The Giant pulled down the wall :
(A)  toletspringin (B)  todrive away snow and frost
(C) toletthe children play freely in the garden (D) todriveaway the children

Read the following passage and answer the questions (56 - 60 ) that follow -

Mount Everest, situated on the Nepal-Tibet border is the highest point on the earth.

It was between the years 1849 and 1855 that the Survey of India made observations and took
readings of the Himalayan peaks. At that time it was difficult to say which was world's highest peak. Since
most of the peaks observed had no local names, so roman numbers were alloted. As such, Mount Everest
was called Peak "XV'. In 1865, the peak XV was discovered to be the highest in the world with a height of
29002 feet. Later, in 1952, more sophisticated methods of measurement showed it to be 29028 feet high.

The peak XV was named 'Everest' in memory of a Surveyor - Genereal, Sir George Everest. In
Tibet its name is Chomo Lungma - Goddess mother of the Earth. In Nepal it is called Sagar Matha.

In 1921 some British climbers, alongwith a detachment of the Survey of India, entered this region
for the first time. They reached Rongbuk Monastery, explored the area and returned after staying there for
three months. ‘

British team launched the first full scale expedition on the Everestin 1922 and again in 1924. Many
other expeditions were launched by the British and the Swiss.

In 1953, the British launched ninth expedition. The team was led by Col. John Hunt. The first
summit party failed to reach the summit due to bad weather. The second summit party comprising Edmund
Hillary and Tenzing Norgay, succeeded in reaching the summit on 29 May 1953. They were the first
mountaineers to climb the summit.
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During the International Wonren's year in 1975, for the first time a woman stood on the top of
Everest. She was Mrs. Junko Tabei, a Japanese housewife.

56.  Which one of the following statement is not correct in the context of the passage ?
(A)  The British first reached the summitin 1921
(B)  Mount Everest is known as Sagar Matha in Nepal
(C)  Edmund Hilliary and Tenzing Norgay were the first persons to climb Mount Everest
(D)  Junko Tabei was the first woman to climb Mount Everest.

57.  Mount Everest is considered to be the highest point on the earth because -
(A)  itissituated on the Nepal - Tibet border ,
(B) itisknownasthe Chomo-Lungma-Goddess Mother of the Earth
(C)  the Survey of India measured its height
(D)  itisthehighest peak in the world

58.  Before the Survey of India gave Mount 'Everest' this name, the Britishers called it -
(A)  Sagar Matha B) Chomo Lungma
(C)  Peak XV (D)  SirGeorge Everest

59.  The 29028 feet height of Mount Everest was measured in -
(A) 1849 B) 1952
(C) 1865 D) 1855

60.  Roman number were alloted to some peaks because -
(A) it was easy to use Roman numbers
(B)  most of the peaks observed had no local names
(C)  theexactheight of these peaks was not ascertained
(D)  thename could be given only by the Survey of India
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Language II - English

In questions 61 - 65 select the word with correct spelling for filling in the blanks in the given

sentences.
61. Thereisnomuch............cccees in the results. i
(A) difference (B)
(C) diferense (D)
62. Pleasebe ..
(A)  breef (B)
(C)  buf D)
63. Theeldest prince wasthe ................. to the throne.
(A)  hire B)
(C)  hier (D)
64, KEBP wvmesirorines . Don't make a noise.
(A)  quite B)
(C)  quiet (D)
65. Give me aproper........cceceeeene for this payment.
(A) reciept B)
(C)  receipt (D)

differense
diference

breif
brief

heir
hiar.

queit
qwait

riciept
receept

In questions 66 - 70 identify the appropriate alternative from the given ones for filling in the
blanks in the given sentences.

66.

67.

68.

69.

We have been waiting for the train ................. two hours.
(A) since : (B)
(C) by D)
They arrived late ............... the airport.

(A) in (B)
(C) with D)
The money was divided ........c.ceuene Anwar and Rashid.
(A) between (B)
(C) into D)
This 15 the house . ..cuaomgsrors Hari bought.

(A) who B)

(C) whom (D)
| [23]
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70. Hehas................. his home work.
(A) did (B) been doing
(C)  done (D)  does

Each of the sentences in questions 71 - 75 is divided into four parts marked A,B, C, & D. One of
the four parts has an error in it. Identify it and mark on the answer sheet.

71.  Ravientered/in the classroom / without / seeking permission.
A B c D

72.  Howmuch/fingers/do you have / in your hands ?
A B C D

73. Hehadmade/alist/ of all the things / he wants to buy.
A B € D

74. My older brother/ built/ this house/ last year.
A B C D

75.  Ittakes/alot of practise/to play / the violin well.
A B € D

In questions 76 - 80 select the appropriate word to fill in the given sentences.

10 s student in the class is capable of passing the examination.
(A) al B) every
(C)  many (D)  some
77.  Theprisoner............. from his guards.
(A)  broke off (B)  brokeinto
(C)  broke down (D)  broke away
78.  Thisringismade.................. gold.
(A) from (B)  with
(C) of (D) by
79.  Inthe forest,Isawa................ of deer.
(A) herd (B)  band
(C)  pride (D)  swarm
L - —— most of his money to charity.
(A) gaveup (B) gavein
(C)  gaveaway (D)  gave back

C [24]



Read the following passage and answer the questions ( 81 - 85) that follow :

Robin was handsome and well built, full of fun and good humour and very popular among his
friends. His parents were proud of him though his father worried about his high - spirited nature.

Robin's mother had a brother called Squire Gamwell who lived in the far away city of Nottingham.
She had not met him for many years and she was also keen that Robin meet his uncle.

"My Lord", she said one day to her husband. "I have not met my brother for a long time. I wish to
go to Nottingham to visit him".

""You cannot go alone", replied her husband. "The roads are not safe and you might be attacked by
robbers. But you know it is harvest time and I cannot accompany you".

"Can I take Robin with me ?" She asked eagerly." He is strong enough to protect me. [ know I will
be safe with him."

Her husband agreed. A great deal of preparation was necessary before they could start out on the
long journey. They had to travel by horse, and they had to make sure there was enough food and drink to
last the journey.

"Good luck go with you !" called Robin's father as the two set out on the forty-mile journey.

After travelling all day Robin and his mother reached Nottinghan at last. Robins uncle was pleased
to see them.

"So this is my nephew !" he said as he helped Robin's mother down from the horse. The lad looked
well built and intelligent. He yelled to his son, "Hey Will ! come and meet your cousin."

Will Gamwell came to the door. He was a tall, fair-haired youth of about the same age as Robin.

81. Will Gamwell was Robin's

(A) uncle (B)  cousin

(C) friend (D)  nephew
82.  Theroads were not safe due to -

(A) farmers (B) heavyrains

(C) longdistances (D) robbers

83.  Robin's father was worried about his -
(A)  humour (B)  popularity
(C)  high spirited nature (D)  handsome looks

84.  Robin's mother wanted to go to Nottingham so that -
(A)  herhusband could reap the harvest (B)  robin could meet his uncle
(C)  her brother could protect her from robbers (D)  she could purchase some clothes

85.  Robin and his mother had to travel to Nottingham by -
(A) horse (B) bus
(C) car (D)  chariot
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Read the following passage and answer the questions ( 86 - 90 ) that follow :

You have all seen birds flying. For thousands of years men watched the birds and wondered how
they had this marvellous gift of flying. Looking at these birds, man first began dreaming about going up in
the sky. Men tried to copy these birds. They tried to make big kites which could carry them up. They tried
various methods but could not fly.

One witner night a man was sitting near the fire. While looking at the fire he saw smoke rising from
it. The man watching the smoke wondered if the smoke could also take other things up with it. He made a
bag of silk and burnt some paper below it. As soon as the smoke collected in the bag it started rising up.

Several other people also tried this experiment and were successful. They made bigger and bigger
bags and filled them with hot air. In big balloons they put animals in a small cage and sent them up in the air.
When the animals returned safely they sent up a man in a balloon. Balloons could fly only in the direction in
which the wind blow. Improvements began to take place and the balloons could stay in the air much longer.

Some people were also trying to experiement with other methods of flying in the air. One new
method was of flying in gliders. A glider is like a present day aeroplane, but has no machine or engine.
Unlike the balloons, the pilot of a glider can control the direction of travel but the glider can stay up only as
long as the currents of air can support it.

In America, two brothers, Wilbur and Orville Wright, were carrying out experiments at the same
time. They were known as the "Wright Brothers". They worked hard and tried several experiments. In
1903, they were able to make a machine which could fly in the air.

Although the first really successful flight took place in 1903, an Italian named Leonardo da Vinci
had thought of a rough form of an aeroplane more than five hundred years ago.

The first machine was not very good. Before showing it to the people many improvements had to
be made. The people were delighted to see the machine fly. The public gradually began to take interest in
these machines.

86.  Leonardo da Vinci belonged to -

(A) Italy (B)  Germany
(C)  America (D)  England.
87.  Wright Brothers invented the -
(A) glider (B)  balloon
(C)  engine (D)  flyingmachine
88.  What made man dream of flying in the sky ?
(A) flight ofan aeroplane (B)  flightofbirds
(C)  rise of smoke (D)  Aflyingkites.
89.  Aballoonrises up by the powér of -
(A) engine (B) diesel
(C) hotair (D)  petrol
90.  Aglider can remain in the air only as long as -
(A) the pilot can control its direction (B)  thefuel lasts
(C)  thecurrent of air supports it (D)  the daylight remains
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(B)
(D)
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84.

85.

86.

88.

9.

90.



91.

92.

93.

94.

NG|

( MATHEMATICS)
fodl o°f @ o Yol WX §1 . B 91. 'What will be the ratio between the area
B AT I I B Aot )R g formed by a side of a square with the area
o & &§%d F FaT U BN ? formed by its diagonal ?
(A= 132 (A) 1:2
B)- 21 B2z 1
€ 123 (&) 1:3
D) 1:4 D) 1:4
5.2 246 B : 5 2 12,61
§X§+§*7 BT ATdH B9 7 92. Thesnmplestfomof6x9+g.7ls
A) 044 (A) 0-44
®) 032 ®) 032
© 049 (C) 049
D) 0-36 D) 036
v0.0625 : 0
5 BT HReITH B9 & — 93. The simplest form of 0'(;625 is-
A) 05 (A) 05
B) 005 B) 0-05
(©) 0-005 (©) 0-005
D) 5-00 (D) 5-00
0.827 x 0.827 —0.173 x 0.173 2 94. Thesolution of
0.654 DL % 0.827 x0.827-0.173 x0.173 =

@ 1 0.654

A) 1
®) 2 (A)
© 3 ®) 2

C) 3
®) 4 9

O 4

[35] [ Turn Over



95.

96.

97.

98.

50+ [100—{35—(30-20)} | X2 T
A9 ® —
@A) 0
B) 50
(C) 100
®) 200

T U @ eEfRag o1 Refoat
R 7€ & o9 A q= 5 B
I B ?

.O.. PR
@ TN BE
L ...
A 1
®) 2
© 3
D) 4

FAYCHS @ IADHIV DI A Bl .

z—
(A)
(B)
©
(D)

30°
60°
90°
120°

= § afe AB=BC3R L ABC=90°
T £ BCD &1 |19 81T :

(A) 135° A

B) 150°

©) 120: 3 &
©) 210 b

[[36]

95.

96.

97.

98.

D)

The value of
50+[100—-{35-(30-20)}]x2is-
@A) 0

B) 50

(C) 100

(D) 200

Following two positions of a dice are shown
in the figure. What number is opposite'
of 57

.... ® e
@ "W BEJ
L N ...
a) 1
® 2
© 3
®) 4

The value of internal angle of a regular
hexagonis -

(A) 30°

B) 60°

(€) 90°

120°

In figure, if AB = BC and £ ABC =90°

then value of Z BCD will be -
(A) 135° A
B 150°
)y 120°
€ 4 - B C
D) 210 _ D



99.

100.

101.

102.

A,B3iR C &I oited amg 10 a9 &
Ife AR C o1 oiraa amg o af @
dr Bo! 3y fsas af &rfY ?

@A) 9

®) 10

© 1

D) 12

10 W41 351 & g7 & Ia Uh
FHPIV S 991 T & Afe g
B AN BPrS @ UH o ® e
21 @1 afRamg 48 w9 & O B
Bl A QT oI & —

Aa) 13,15

B) 14,14

©) 12,16

D) 10,18

Ife 9 J&IR 1:2:3 & U §
2 TAT S9HT HOo WO 12 ® dr d
o & —

@A) 4 812

B) 12,24,36

(©) 12,24,30

@) 5,12,15

A= deRs5a7e 39 A= &1
AT 41/35 & 3R S99 3i° DI
9o W)X = @1 ANT 43 /35 @/
ST e, 9 e € -

(A) 3715, 4/7

B) 2/5, 4/7

(©) AT, 207

®) 3/5, 5/7

[37]

929

100.

101.

102.

Average age of A, B and C is 10 years. If
the average age of A and Cis 9 years, then
how many years old is B ?

A 9

®) 10

© 1

D) 12

Aright angle triangle is constructed within
a circle of radius 10 cm . If diameter of
circle is a side oftriangle and the perimeter
oftriangle is 48 cm , then another two sides
of triangle are -

(A) 13,15

B) 14,14

€ 12,16

D) 10,18

If three numbers are in the ratio of 1 : 2: 3
and their H.C.F. is 12, then numbers are -
(A) 4, 8,12
B) 12,24, 36
(C) 12,24, 30
@ 512,15

Denominator of two fractions are 5 and 7.
Sum of these fractions is 41/35. Inter-
changing their numerators the sum becomes
43/35; fractions are -

(A) 3/5, 4/7

B) 2/5, 4/7

©) 477, 217

@) 3/5. 57
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103.

104.

105.

106.

107.

fordl faemerm &1 B §=AT 100 T |
g8t 10 yfoed aifffe & &% | B
w4 gig 81 %8 2 | 2 99 915 g8l
P BT ST feanl 8 SRE 7
(A) 120

®) 121
©) 122

@) 111

fer=foRaa & sfa =1 8 —
@A) 3/5

B) 5/4
€y “172

O 93

1 99, 1 fam &1 fhamn ufoea @ —
A) 1%

B) 10%

(C) 01%

D) 001%

fodl o o9 @ gy @1 &
216 m? & I BT AT fobe=T BRI ?
(A) 100 m?
B) 216 m®
(C) 480 m?
O) 512m°

5 Br{sr & o HIvI &1 U
1:2:3 2| 999 I IV DI fSTA
H A B —

T
@ 5

2
3
g2

(B)

© =
3z

(D)T

[38]

103.

104.

105.

106.

107.

The Number of students are 100 in a
school. They are increasing at the rate of
10% per year. What will be the number
of students after 2 years ?

A) 120

B) 121

€y 122

(D) 111

In the following proper fraction is -
A) 3/5
B) 5/4
©) 1%
D) 9/3

What percentof 1 kgis 1 gm ?
A) 1%

B) 10%

©) 01%

(D) 0-01%

The surface area of a solid cube is 216 m?.
What will be its volume ?

(A) 100 m?
®) 216 m°
(C) 480 m?
D) s512m°

The ratio of internal angles of a triangle are
1 : 2 : 3. The value of greatest angle in
radian will be -

2
2

3

(A)

®)



108.

109.

6 fdH ufcl gver &1 = 9 < §¢
IR P 9ot 8 & ufy gver & g
W <redr g3 Yferd drell B & B
e IR™ 3 AR gferd arel § 100 Hex
3R 81 Al IR BT g # gfer arer
DI fvam e &1 9y ofem ?
@) 1

® 2
© 3
D) 4
5 %9 B 6 B aX W Dol GIT N
6 YUY & 5 P! X W 994 W b=
gfeera &nT s8R ?

- (A) 36%

110.

114,

B) 42%
(C) 44%
D) 48%

IS x BT A y A 25% BH & q) y B
A9 x 9 fhaqr gfaea aiffe & —
(A) 25

1

1
© 663
D) 75

T 24 DY AT BT Yol § DY
foram s ?

(A) XXIII

B) IVXX

(C) XXVI

D) XXIV

108.

109.

110.

111.

A policeman with a speed of 8 km/hour is
chasing a thief running with a speed of
6 km/hour. If initially the thiefis 100 meter
ahead from the policeman then how many
minutes will be taken by the policeman to
catch the thief ?

A 1

B) 2
©) 3
(D) 4
6 bananas are purchased for rupees 5 and
are sold at the rate of 5 bananas for rupees 6.
What will be the profit percentage ?

(A) 36%

B) 42%

(©) 44%

(D) 48%

Ifthe value of x is 25% less than the value of
y then how much percent y is more than x ?
(A) 25

‘ 1
® 333
1
(€)-e6=

D) 75

How will the number 24 be written in
Roman numeration system ?

(A) XX

B) IVXX

(€ XXVI

D) XXV
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112.

113.

114.

115.

116.

fpafaRaa 3§ @ o9 4 @ 25 |
forsa 2 ?
(A) 4855
B) 5685
(C) 6790
D) 7150

0-0159 3 1 BT WIIIAE & —
@) 1

®) 1/10

(©) 1/100

D) 1/1000

fymifsa il @1 e H fda-
IR & §H G B g 95 al
faws d=ad o & ?
387725823621568745473
@ 1

®) 2
© 3
D) 4
1 i freiriiex # b SaeaR B &7
@A) 1

® 10

(C) 100

D) 1000

‘m’aﬁ'\"n"ﬁﬂqwglﬁ
m" =253l #1914 fbaar g ?

A 4

10
25
32

®)
©
D)

[40]

112.

113.

114.

115,

116.

Which one of the following is divisible
by 25 ?

(A) 4855

B) 5685

(C) 6790

D) 7150

The place value of 1 in 0-0159is-
A 1

B) 1/10

(C) 1/100

(D) 1/1000

How many times two odd numbers are
placed just after an even number in the
following number sequence ?
387725823621568745473
A 1

®) 2
(€) 3
D) 4

How many hectares are there in 1 square
kilometer ?
@ 1

@) 10
(C) 100

D) 1000

‘m’ and ‘n’ are two positive integers. If
m" =25, then what is the value of ™" ?
A) 4

® 10

) 25

D) 32



117.

118.

119.

120.

I x+5=07T (5x% +50x+ 125) BT
A BET — ;

A) 0

®) 5

(C) 125

D) 250

e *=b,0Y=cAR F=a A Xy zH
4§ — |

A 0
®) 1
© 2
® 3

TP el fhl & B 15 T F
FHRAT 2 | S HM DI SFHT GF 10

f&= & & ot 8 | A ST AR

IH M DI B Al fba &7 # gx1
PR ol ?

A 5

®) 6

©) 16

®) 25

16,13, 15, 11, x, 8 3R 7 &7 3i=d 12
g W xd AF 8 —

A) 9

®) 10

©) 12

D) 14

[41]

117.

118.

119.

120.

Ifx +5=0, the value of (5x*+50 x + 125)
will be -

A) 0

@ 5

(C) 125

D) 250

Ifa*=b,bY=cand c®*=a then the value
of xyzis-

A) 0

@) 1

© 2

®)

W

A man finishes a work in 15 days. His son
finishesin 10/daysthe some, i avork
together then in how many days they will
finish the work ?

A s

®B) 6

©) 1/6

©) 25

The average of 16, 13, 15, 11, x, 8 and 7

-1s 12, the value of x is -

A 9

B) 10
() 12

D) 14

[ Turn Over



121

122.

123.

124.

125.

YIIaRUT T

( Environmental Studies )

faea % ST e &1 TG BRI ® —
(A) “TRIBROT

B) 3iremfrsror

©) fawg & ava= 4 gfg

D) 3t auf

TRA ¥ Yo SRR G35 Bef wfia
garr ?

A) femT

B) SIAR

(C) MR -

O) feeh

=foRea # 9 @19 91 9eeER Us
T8 & —

@A) ™

B) FHel

©) g«

D) rEqd

sHilger fEfaRea 4 | 59 Ao

W IPE ® —
(A) TEE
®) i+
(C) dmIHE
(D) 9gEE

I Na & w=lkar & —
(A) dfFaa=< Fecura™
(B) fe==meT SR
(C) HIEHT ST
(D) HerHRRTT

[42]

121.

122.

123

124.

125.

Major cause of water crisis in the world
is-

(A) Urbanization

(B) Industrialization

(C) Global warming

(D) Acidrain

In India first biogas plant was established
in-
(A)
(B)
©
(D)

Pilani
Jaipur
Agra
Delhi

Which of the following is not evergreen
tree?
(A)
®B)
©)
D)

Neem tree
Embhi Myrobalan
Acaciatree
Mulberries

‘Decibel’ is a unit to measure -
(A) Depth

(B) Sound

(C) Temperature

(D) Airpressure

Author of National song is :
(A)
(B)
©
D)

Bankimchand Chattopadhyaya
Rabindranath Tagore
Mohmad Igbal

Maithalisaran Gupta



126.

127.

128.

129.

130.

YRA # ‘UIoide TSR BRIHH b
¥ R¥ fpar T o1 ?

(@) 1982
‘B) 1972

(C) 1981
(D) 1973

T 673 BT T iR ovar 8, S9ai—
@) qT@E P w

B) BT wR

(C) T W

D) Y= T =

WARR ERYTAR {hdT Aeayqul A
2 _

(A) TIRH

B) IHE

(C) SIS

D) iEr

frafalRed # & fea oot § md= @
UgRATl & ?

(A) ¥, 3™, TSR

(B) 3ITSI, HX, HB<Il

(C) |, I=T1, HadhT

(D) <4, T8I, A

IR BT IS U & —
(A) Bl
B) R
(C) €™
@) R

126.

127.

128.

129

130.

In which year Project Tiger Program was
started in India ?

(A) 1982

B) 1972

(C) 1981

D) 1973

The colour of a star depends upon its -
(A) distance from sun

(B) radius

(C) density

(D) - surface temperature

Sea weeds is the chief source of -
(A) Chlorine

(B) Bromine

(C) Iodine

(D) Iron

Which of the following group is rich in
protein -

(A) Milk, mango, carrot

(B) Egg, pea, fish

(C) Soyabean, gram, maize

(D) Apple, curd, mutton

National animal of India is -
(A) Elephant

(B) Lion

(C) Tiger

(D) Peacock
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131

132.

133.

134.

135.

TR 2 ¥ 99 weElcud fead wemEn
ST & —

(A) 2 JAFTIR DI

®) 1 g B

(C) 10 3FTA &I

D) 1 fea=R @1

STe—SIfd T & —
A) IRER

®) BIT AT
(C) aITedT

(D) HARTS SaR

freafoRea # fow ‘G T
a1 9T Bl & ?

(A) ¥ ©ic

B) RFEeF wie

(©€) Fofores wic

(D) 3PS Wi

71 e gedt &1 A T B3N &—
@ |

®) &1

(C) Wi q

(D) HIeT A

arg TG BT BRI B —
(A) DD

®) S

(©) it

D) @ fowaR®

[44]

131.

132:

133.

134.

135.

In our country ‘Van Mahotsav Day’ is
celebrated on -

(A) 2 October

B) 1lhly

(C) 10August

(D) 1December

A water borne disease is -
(A) Diarrhoea
(B) Small pox
(C) Anaemia
(D) Meningitis

Quinine medicine is obtained from -
(A) : Money plant :

(B) Cinchonaplant

(C) Eucalyptus plant

(D) Aconite plant

71 percent of earth surface is covered with-
(A) Land

B) Ar

(C) Water

D) Coal

Air pollution is caused by -
(A) Insecticides

®)
©
((0)

Sewage
Smoke
Loud speakers



136

137.

138.

139.

140.

141.

‘oI 5 & &1 areiE 93 ® -
(A) ST 9Rd

B) Bl

(C) =T yesT

D) g

qiferaY &1 PR & —

(&) Siarg
®) faurg

(C) Pddh
D) Dl

frfoRag § <6 & wae B @
27

(A) FEad

® =

(©) el

D) ®u™

Al BT UHASID DI & ?
(A) a9 HIP
B) JaTd oA

©) g
D) el

T B HEd B BRI & —
A) W+ Tes

B) W Izvs

(C) W T8

D) = Rex

gaiaRvr feas fs fa=1 w=iman simar &—
(A) 4 ST
B) 5§ ST
© 15 T
D) 25 SfA

[45]

136.

13T

138.

139,

140.

141.

The classical dance ‘Kathak’ is of which
area ?

(A) NorthIndia

(B) Kerala

(C) Andhrapradesh

(D) Tamilnadu

Cause of Polio is -
(A)
®)
©
O)

Bacteria
Viruses
Fungi
Insects

Which of the following is Rabi’s crop -
(A) Rice

(B) Gram

(C) Groundnut

(D) Cotton

Which is the detergent of the earth ?
(A) Bacteria & Fungi

'(B) Soil & Water

(C) Animals
(D) Birds

It is due to importance of forests -
(A) GreenGold

(B) Greenlsland

(C) GreenHouse

(D) Green Silver

On which day world Environment Day is
celebrated ?

(A) 4June

(B) S5June

(C) 15J)une

D) 25June
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142.

143.

144.

145.

146.

YRA H Bl B AT AP &85 o—
(A) g BT

(B) 3T Bl

(C) 3 &1

(D) YUK P

qgiaRe & g9 @ o Rt
ARG BT I a8 ?
(A) STR U
B) IRITS
(C) BuNTe
(D) SIRETS

O ¥ yeTer YT fhar fa ¥ i
e A Bl ' ?

(A) el

@) drer

(C) <

D) '

o) & g wiar 8§ —
(A) BRBRY

®) fIef = v

€) faerfas <y

(D) SWRIK T

frferiae & @9 sPe—ant &1 g8y
ISP & ?

A) TR ST IfTISS

B) BE I3 fATES

(C) PEA AFRITES

D) EIFSIOH RKZS

[46]

142.

143.

144.

145.

146.

Largest area under fruits in India is of -
(A) Lemon

B) Guava

(C) Mango

(D) Papaya

To save environment which state is
associated with ‘Chipko Movement’ ?
(A) Uttar Pradesh

(B) Jharkhand

(C) Chhattisgarh

(D) Uttarakhand

In which colour photosynthesis occurs most
in plants ?

(A) Blue

(B) Yellow

(C) Red

(D) Green

There are found in ladyfinger -
(A) Phosphorus

(B) Vitamin ‘A’

(C) Vitamin‘C’

(D) Allabove

Which of the following is a major
pollutant causing acid rain ?

(A) Sulpherdioxide

(B) Carbondioxide

(C) Carbonmonoxide

(D) Hydrogen peroxide



147.

148.

149.

150.

70 Ho <o 30 FT ST ® —
(A) PRrerea @reEr

B) Rt # Rrm wWR T9- w1
(C) TR % ey &1 ggrar <=
D) Rt o1 sEE &

PIF P AP BT IS0 81
3 _

@) FRar

(B) U’

(C) WiIEhe

(D) FEARS

AR gaiaRer § fpa 9 &1 9e
AfeH AET & ?

(A) SifaaeE

B) BETSE JARIZS

(C) EIggRISH

D) -EEH

fr=iferiaa & & Sfde o 2 —
(A) Uy
®) T«
© 3
(D) v

147.

148.

149.

150.

3% ok ok sk sk sk ok

[47]

The aim of NCTE is -

(A) To open college of education

(B) To maintain standard in colleges of
education

To promote research in education
To provide grant to colleges of

education

©
D)

Which is not a example of chemical
fertilizer ?

(A)
(B)
©)
D)

Urea
Potash
Phosphate
Compost

The concentration of which gas is highest
in our environment ?

(A) Oxygen

(B) Carbondioxide

(C) Hydrogen

(D) Nitrogen

Biotic component s :
(A) Plant

B) Soil

(©) Airr

(D) Water
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